log[sensitivity]

logVa= logVo+0,00
Jlog [Va La M4

o.

58
S

logVo = —0,35[.1;\—U557]2

e
Mala

logLo = -0,35)—Us7q
logM o= —0,35Li\—Us4:]2
logLa=logLo-0,19
logVl2=log M +0,24
Ra uy=(A-550)/50

log[saturation]
logVo = —0,35[y—Uss7]?
logVa= logVo+0,00
log [Va/Vo, LaVo,

logLo
log

= —0,35u\—Us7q

= -0,350)—Us:9?
logLa=logLo—-0,19
logMV2=logM-+0,24

Ra saturation V

/Vo]
MalLa

EGETEGN]
L&M: 620
mte=0.1
: La=-0,%

Vo=-0,55 Va=-0,%
Mo=-0,79 Mg=—0,%

495Ec  565EcC

1

EGETIEG]
L&M: 620
=0.1

1
1620

=ily 1570 ! 495EC  565EC

1
545:

400

CER40-1A
log[sensitivity]

500

logVa= logVo+0,00
Jlog [Va La M)

logVo = —0,35[.1)\—U557]2

Ma La

600Ag/nm 700Ac 400

logLo = -0,35)—Us7q
logM o= —0,35[i\—Us4:]?
logLa=logLo+0,07
logVl2=log M +0,07
uy=(A—550)/50

400

CER40-2A

log[saturation]

l0gVo = —0,35[1~Uss7]2

logVa= logVo+0,00

|Og [Vg[Vo, LalVo, /Vo]
Ma La

500 600Aq/nm 700xc 400

logLo
log

= —0,35\—Us7q
= -0,350)—Us:9?
logLa= logLo+0,07
logV2=logM-+0,07
saturation V

EGETEGN]
L&M: 570
_ ts0.1
—L_W La=-0@
V0=-0,02 Va=-0,@&
Mo=-0,09 Mg=-0,@

495Ec  565Ec

1 ' EGETIEG]
- L&M: 570
1 t<=0.1

—

1
1
1 1570

—11 545 495Ec  565EC

400

CERA40-3A
log[sensitivity]

500

logVa= logVo+0,00
llog [Va La, M]
(€]

logVo = —0,35[iy—Uss7]?

600Ad/nm 700xc 400

logLo = -0,35u)—Us7q
logM o= —0,35Li\—Us4:]?
logLa=logLo+0,58
logVz=logM-—0,11
uy=(A-550)/50

500 600Aq/nm 700xc 400

CER40-4A

log[saturation]

logVo = —0,35[y—Uss7]?

logVa= logVo+0,00

|Og [ValVo, LalVo, /Vo]
. Ga Mala

logLo = —0,35)\~Us7q
logM o= —0,35[y—Us4:]?
logLa= logLo+0,58
logM2=logM--0,11
saturation V

EGETEGMN]
L&M: 520

Mg=-0,09 Mg=-0.1¢

Y 495Ec  565EC

EGETIEG]
4 L&M: 520

1 L}
LI B |
LI B |
5200 1 1
545 1570 495Ec  565EC

-1+

500

CERA40-5A

log[sensitivity]

logVa= logVo+0,00
]

Ba

logVo = —0,35[.1)\—11557]2

600Ad/nm 700xc 400

logLo = -0,35u)—Us7q
logM o= —0,35[i\—Us4:]?
logLa=logLo+1,12
logVlz=logM-—0,28

) u=(A-550)/50

400

CER40-6A

log[saturation]

logVo = —0,35[)—Uss7]?

logVa= logVo+0,00

log [Va/Vo, Lal/Vo,
Ba

500 600Ad/nm 700xc 400

logLo = —0,35)\~Us7q
logM o= —0,35[y—Us4:]?
logLa=logLo+1,12
logV2=logM--0,28
saturation V

Vol
Ma La

1 |
1 / :
2
5470 :

545

~
N\

EGETEGM]
L&M: 470

=0.1
N~ e
Lo=-1,40 La=—1,¢
VO=—1U6 Va=-1,¢
M@=-0,79 Mg=—1,0¢

Y 495Ec  565EC

adaptatlon

1
1570 495Ec  565EC

400

CER40-7A

500

600Ad/nm 700c 400

600Aq/nm 700xc 400




